

Research Article

On Fixed Point Theorems in Intuitionistic Fuzzy Metric Spaces

Zhenhua Jiao

Institute of Mathematics, Hangzhou Dianzi University, Hangzhou, Zhejiang 310018, China

Correspondence should be addressed to Zhenhua Jiao, jzhenhua@163.com

Received 11 November 2011; Accepted 5 December 2011

Academic Editor: Nazim I. Mahmudov

Copyright © 2012 Zhenhua Jiao. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

The author extends two fixed point theorems (due to Gregori, Sapena, and Žikić, resp.) in fuzzy metric spaces to intuitionistic fuzzy metric spaces.

1. Introduction

In this paper, we pay our attention to the fixed point theory on intuitionistic fuzzy metric spaces. Since Zadeh [1] introduced the theory of fuzzy sets, many authors have studied the character of fuzzy metric spaces in different ways [2–5]. Among others, fixed point theorem was an important subject. Gregori and Sapena [6] investigated fixed point theorems for fuzzy contractive mappings defined on fuzzy metric spaces. Recently, Žikić [7] proved a fixed point theorem for mappings on fuzzy metric space which improved the result of Gregori and Sapena. As further development, Atanassov [8] introduced and studied the concept of intuitionistic fuzzy sets as a generalization of fuzzy sets, and later there has been much progress in the study of intuitionistic fuzzy sets [9, 10]. Using the idea of intuitionistic sets, Park [11] defined the notion of intuitionistic fuzzy metric spaces with the help of continuous t -norms and continuous t -conorms as a generalization of fuzzy metric space. Recently, several authors studied the structure of intuitionistic fuzzy metric spaces and fixed point theorems for the mappings defined on intuitionistic fuzzy metric spaces. We refer the reader to [11–13] for further details. In this paper, we will prove the following two fixed point theorems.

The first theorem extends Gregori-Sapena's fixed point theorem [6] in fuzzy metric spaces to complete intuitionistic fuzzy metric spaces. As preparation, we recall the definition of s -increasing sequence [6]. A sequence $\{t_n\}$ of positive real numbers is said to be an s -increasing sequence if there exists $m_0 \in \mathbb{N}$ such that $t_m + 1 \leq t_{m+1}$, for all $m \geq m_0$.

Theorem 1.1. Let $(X, M, N, *, \diamond)$ be a complete intuitionistic fuzzy metric space such that for every s -increasing sequence $\{t_n\}$ and arbitrary $x, y \in X$,

$$\lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} M(x, y, t_i) = 1, \quad \lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} N(x, y, t_i) = 0 \quad (1.1)$$

hold.

Let $k \in (0, 1)$ and $T : X \rightarrow X$ be a mapping satisfying $M(Tx, Ty, kt) \geq M(x, y, t)$ and $N(Tx, Ty, kt) \leq N(x, y, t)$ for all $x, y \in X$. Then T has a unique fixed point.

The second theorem extends Žikić's fixed point theorem [7] in fuzzy metric space to intuitionistic fuzzy metric space.

Theorem 1.2. Let $(X, M, N, *, \diamond)$ be a complete intuitionistic fuzzy metric space such that for some $\sigma_0 \in (0, 1)$ and $x_0 \in X$,

$$\lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} M\left(x_0, Tx_0, \frac{1}{\sigma_0^i}\right) = 1, \quad \lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} N\left(x_0, Tx_0, \frac{1}{\sigma_0^i}\right) = 0 \quad (1.2)$$

hold.

Let $k \in (0, 1)$ and $T : X \rightarrow X$ be a mapping satisfying $M(Tx, Ty, kt) \geq M(x, y, t)$ and $N(Tx, Ty, kt) \leq N(x, y, t)$ for all $x, y \in X$. Then T has a unique fixed point.

2. Basic Notions and Preliminary Results

For the sake of completeness, in this section we will recall some definitions and preliminaries on intuitionistic fuzzy metric spaces.

Definition 2.1 (see [14]). Let X be a nonempty fixed set. An *intuitionistic fuzzy set* A is an object having the form

$$A = \{\langle x, \mu_A(x), \nu_A(x) \rangle : x \in X\}, \quad (2.1)$$

where the functions $\mu_A : X \rightarrow [0, 1]$ and $\nu_A : X \rightarrow [0, 1]$ denote the degree of membership and the degree of nonmembership of each element $x \in X$ to the set A , respectively, and $0 \leq \mu_A(x) + \nu_A(x) \leq 1$ for each $x \in X$.

For developing intuitionistic fuzzy topological spaces, in [10], Çoker introduced the intuitionistic fuzzy sets 0_{\sim} and 1_{\sim} in X as follows.

Definition 2.2 (see [10]). $0_{\sim} = \{\langle x, 0, 1 \rangle : x \in X\}$ and $1_{\sim} = \{\langle x, 1, 0 \rangle : x \in X\}$.

By Definition 2.2, Çoker defined the notion of intuitionistic fuzzy topological spaces.

Definition 2.3 (see [10]). An *intuitionistic fuzzy topology* on a nonempty set X is a family τ of intuitionistic fuzzy sets in X satisfying the following axioms:

- (T1) $0_{\sim}, 1_{\sim} \in \tau$;
- (T2) $G_1 \cap G_2 \in \tau$ for any $G_1, G_2 \in \tau$;
- (T3) $\bigcup G_i \in \tau$ for any arbitrary family $\{G_i : i \in J\} \subseteq \tau$.

In this case, the pair (X, τ) is called an *intuitionistic fuzzy topological space*.

Definition 2.4 (see [15]). A binary operation $* : [0, 1] \times [0, 1] \rightarrow [0, 1]$ is a *continuous t -norm* (triangular norm) if $*$ satisfies the following conditions:

- (a) $*$ is associative and commutative;
- (b) $*$ is continuous;
- (c) $a * 1 = a$ for all $a \in [0, 1]$;
- (d) $a * b \leq c * d$ whenever $a \leq c$ and $b \leq d$, and $a, b, c, d \in [0, 1]$.

By this definition, it is easy to see that $1 * 1 = 1$. According to condition (a), the following product is well defined: $M(x_1, y_1, t_1) * M(x_2, y_2, t_2) * \cdots * M(x_n, y_n, t_n)$, and we will denote it by $\prod_{i=1}^{i=n} M(x_i, y_i, t_i)$.

Definition 2.5 (see [15]). A binary operation $\diamond : [0, 1] \times [0, 1] \rightarrow [0, 1]$ is a *continuous t -conorm* (triangular conorm) if \diamond satisfies the following conditions:

- (e) \diamond is associative and commutative;
- (f) \diamond is continuous;
- (g) $a \diamond 0 = a$ for all $a \in [0, 1]$;
- (h) $a \diamond b \leq c \diamond d$ whenever $a \leq c$ and $b \leq d$, and $a, b, c, d \in [0, 1]$.

By this definition, it is easy to see that $0 \diamond 0 = 0$. According to condition (e), the following product is well defined: $N(x_1, y_1, t_1) \diamond N(x_2, y_2, t_2) \diamond \cdots \diamond N(x_n, y_n, t_n)$, and we also denote this product by $\prod_{i=1}^{i=n} N(x_i, y_i, t_i)$.

Remark 2.6. The origin of concepts of t -norms and related t -conorms was in the theory of statistical metric spaces in the work of Menger [5]. These concepts are known as the axiomatic skeletons that we use for characterizing fuzzy intersections and unions, respectively. Basic examples of t -norms are $a * b = ab$ and $a * b = \min\{a, b\}$, and basic examples of t -conorms are $a \diamond b = \max\{a, b\}$ and $a \diamond b = \min\{1, a + b\}$.

Definition 2.7 (see [13]). A 5-tuple $(X, M, N, *, \diamond)$ is said to be an *intuitionistic fuzzy metric space* if X is an arbitrary set, $*$ is a continuous t -norm, \diamond is a continuous t -conorm, and M, N are fuzzy sets on $X \times X \times [0, \infty)$ satisfying the following conditions:

- (IFm 1) $M(x, y, t) + N(x, y, t) \leq 1$;
- (IFm 2) $M(x, y, 0) = 0$;
- (IFm 3) $M(x, y, t) = 1$ for all $t > 0$ if and only if $x = y$;

- (IFm 4) $M(x, y, t) = M(y, x, t)$;
 (IFm 5) $M(x, y, t) * M(y, z, s) \leq M(x, z, t + s)$ for all $x, y, z \in X, s, t > 0$;
 (IFm 6) $M(x, y, \cdot) : [0, \infty) \rightarrow [0, 1]$ is left continuous;
 (IFm 7) $\lim_{t \rightarrow \infty} M(x, y, t) = 1$ for all $x, y \in X$;
 (IFm 8) $N(x, y, 0) = 1$;
 (IFm 9) $N(x, y, t) = 0$ for all $t > 0$ if and only if $x = y$;
 (IFm 10) $N(x, y, t) = N(y, x, t)$;
 (IFm 11) $N(x, y, t) \diamond N(y, z, s) \geq N(x, z, t + s)$ for all $x, y, z \in X, s, t > 0$;
 (IFm 12) $N(x, y, \cdot) : [0, \infty) \rightarrow [0, 1]$ is right continuous;
 (IFm 13) $\lim_{t \rightarrow \infty} N(x, y, t) = 0$ for all $x, y \in X$.

We denote by (M, N) the intuitionistic fuzzy metric on X . In intuitionistic fuzzy metric space X , it is easy to see $M(x, y, \cdot)$ is nondecreasing and $N(x, y, \cdot)$ is nonincreasing for all $x, y \in X$. We also note that the successive product \prod with respect to $M(x, y, t)$ is in the sense of $*$ and the successive product \prod with respect to $N(x, y, t)$ is in the sense of \diamond throughout this paper.

Definition 2.8. Let $(X, M, N, *, \diamond)$ be an intuitionistic fuzzy metric space. Then

- (I) a sequence $\{x_n\}$ in X is *Cauchy sequence* if and only if for each $t > 0$ and $p > 0$,

$$\lim_{n \rightarrow \infty} M(x_n, x_{n+p}, t) = 1, \quad \lim_{n \rightarrow \infty} N(x_n, x_{n+p}, t) = 0, \quad (2.2)$$

- (II) a sequence $\{x_n\}$ in X is *convergent to* $x \in X$ if and only if for each $t > 0$,

$$\lim_{n \rightarrow \infty} M(x_n, x, t) = 1, \quad \lim_{n \rightarrow \infty} N(x_n, x, t) = 0. \quad (2.3)$$

Definition 2.9. An intuitionistic fuzzy metric space is said to be *complete* if and only if every Cauchy sequence is convergent.

3. Proof of Theorem 1.1

In this section, we will give the proof of Theorem 1.1 of the present paper.

Proof. Select an arbitrary point $x \in X$. Let $x_n = T^n(x), n \in \mathbb{N}$. We have

$$\begin{aligned} M(x_1, x_2, t) &= M(T(x), T^2(x), t) \geq M\left(x, T(x), \frac{t}{k}\right) = M\left(x, x_1, \frac{t}{k}\right), \\ N(x_1, x_2, t) &= N(T(x), T^2(x), t) \leq N\left(x, T(x), \frac{t}{k}\right) = N\left(x, x_1, \frac{t}{k}\right). \end{aligned} \quad (3.1)$$

By induction it follows that $M(x_n, x_{n+1}, t) \geq M(x, x_1, t/k^n)$ and $N(x_n, x_{n+1}, t) \leq N(x, x_1, t/k^n)$.

Let $t > 0$. For $m, n \in \mathbb{N}$, without loss of generality, we suppose $n < m$; if we choose $s_i > 0$, $i = n, \dots, m-1$, satisfying $s_n + s_{n+1} + \dots + s_{m-1} \leq 1$, then we have

$$\begin{aligned} M(x_n, x_m, t) &\geq M(x_n, x_{n+1}, s_n t) * \dots * M(x_{m-1}, x_m, s_{m-1} t) \\ &\geq M\left(x, x_1, \frac{s_n t}{k^n}\right) * \dots * M\left(x, x_1, \frac{s_{m-1} t}{k^{m-1}}\right), \\ N(x_n, x_m, t) &\leq N(x_n, x_{n+1}, s_n t) \diamond \dots \diamond N(x_{m-1}, x_m, s_{m-1} t) \\ &\leq N\left(x, x_1, \frac{s_n t}{k^n}\right) \diamond \dots \diamond N\left(x, x_1, \frac{s_{m-1} t}{k^{m-1}}\right). \end{aligned} \quad (3.2)$$

In particular, since $\sum_{n=1}^{\infty} 1/n(n+1) = 1$, taking $s_i = 1/i(i+1)$, $i = n, \dots, m-1$, one achieves

$$M(x_n, x_m, t) \geq M\left(x, x_1, \frac{t}{n(n+1)k^n}\right) * \dots * M\left(x, x_1, \frac{t}{(m-1)mk^{m-1}}\right), \quad (3.3)$$

$$N(x_n, x_m, t) \leq N\left(x, x_1, \frac{t}{n(n+1)k^n}\right) \diamond \dots \diamond N\left(x, x_1, \frac{t}{(m-1)mk^{m-1}}\right). \quad (3.4)$$

We define $t_n = t/n(n+1)k^n$. It is preliminary to show that $(t_{n+1} - t_n) \rightarrow \infty$, as $n \rightarrow \infty$, so $\{t_n\}$ is an s -increasing sequence, and hence we get

$$\lim_{m \rightarrow \infty} \prod_{n=m}^{\infty} M\left(x, x_1, \frac{t}{n(n+1)k^n}\right) = 1, \quad \lim_{m \rightarrow \infty} \prod_{n=m}^{\infty} N\left(x, x_1, \frac{t}{n(n+1)k^n}\right) = 0. \quad (3.5)$$

The combination of (3.3), (3.4), and (3.5) implies $\lim_{n \rightarrow \infty} M(x_n, x_m, t) = 1$ and $\lim_{n \rightarrow \infty} N(x_n, x_m, t) = 0$ for $m > n$. Hence $\{x_n\}$ is a Cauchy sequence. Since X is complete, there is $y \in X$ such that $\lim_{n \rightarrow \infty} x_n = y$. We claim y is a fixed point of T . In fact, it is easy to see

$$\begin{aligned} M(T(y), y, t) &\geq \left\{ \lim_{n \rightarrow \infty} M\left(T(y), T(x_n), \frac{t}{2}\right) \right\} * \left\{ \lim_{n \rightarrow \infty} M\left(x_{n+1}, y, \frac{t}{2}\right) \right\} \\ &\geq \left\{ \lim_{n \rightarrow \infty} M\left(y, x_n, \frac{t}{2k}\right) \right\} * \left\{ \lim_{n \rightarrow \infty} M\left(x_{n+1}, y, \frac{t}{2}\right) \right\} \\ &= 1 * 1, \\ N(T(y), y, t) &\leq \left\{ \lim_{n \rightarrow \infty} N\left(T(y), T(x_n), \frac{t}{2}\right) \right\} \diamond \left\{ \lim_{n \rightarrow \infty} N\left(x_{n+1}, y, \frac{t}{2}\right) \right\} \\ &\leq \left\{ \lim_{n \rightarrow \infty} N\left(y, x_n, \frac{t}{2k}\right) \right\} \diamond \left\{ \lim_{n \rightarrow \infty} N\left(x_{n+1}, y, \frac{t}{2}\right) \right\} \\ &= 0 \diamond 0. \end{aligned} \quad (3.6)$$

Thus $M(T(y), y, t) = 1$ and $N(T(y), y, t) = 0$, and we obtain $T(y) = y$. In the sequel, we show the uniqueness of the fixed point. We assume $T(z) = z$ for some $z \in X$. We have

$$\begin{aligned}
 1 &\geq M(y, z, t) = M(Ty, Tz, t) \\
 &\geq M\left(y, z, \frac{t}{k}\right) = M\left(T(y), T(z), \frac{t}{k}\right) \\
 &\geq M\left(y, z, \frac{t}{k^2}\right) = M\left(T(y), T(z), \frac{t}{k^2}\right) \\
 &\dots \\
 &\geq \lim_{n \rightarrow \infty} M\left(y, z, \frac{t}{k^n}\right) \\
 &= 1, \\
 0 &\leq N(y, z, t) = N(Ty, Tz, t) \\
 &\leq N\left(y, z, \frac{t}{k}\right) = N\left(T(y), T(z), \frac{t}{k}\right) \\
 &\leq N\left(y, z, \frac{t}{k^2}\right) = N\left(T(y), T(z), \frac{t}{k^2}\right) \\
 &\dots \\
 &\leq \lim_{n \rightarrow \infty} N\left(y, z, \frac{t}{k^n}\right) \\
 &= 0.
 \end{aligned} \tag{3.7}$$

Thus we get $M(y, z, t) = 1$ and $N(y, z, t) = 0$, and hence $y = z$. The proof is complete. \square

4. Proof of Theorem 1.2

In this section, we will give the proof of Theorem 1.2 by three lemmas.

Lemma 4.1. *For any monotonely nondecreasing function $F : (0, \infty) \rightarrow [0, 1]$, the following implication holds:*

$$\lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} F(\sigma_0^i) = 0 \implies \lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} F(\sigma^i) = 0 \tag{4.1}$$

for all $\sigma \in (0, 1)$, where the infinite product \prod is in the sense of \diamond .

Proof

Case 1 ($\sigma < \sigma_0$). For $i \in \mathbb{N}$, $\sigma^i < \sigma_0^i$, and since F is nondecreasing, $F(\sigma^i) \leq F(\sigma_0^i)$ hold. And hence $\prod_{i=n}^{\infty} F(\sigma^i) \leq \prod_{i=n}^{\infty} F(\sigma_0^i)$, $n \in \mathbb{N}$. So implication (4.1) holds.

Case 2 ($\sigma \geq \sigma_0$). If $\sigma = \sqrt{\sigma_0}$, it follows

$$\begin{aligned} \prod_{i=2m}^{\infty} F(\sigma^i) &= \left[\prod_{i=m}^{\infty} F(\sigma^{2i}) \right] \diamond \left[\prod_{i=m}^{\infty} F(\sigma^{2i+1}) \right] \\ &\leq \left[\prod_{i=m}^{\infty} F(\sigma_0^i) \right] \diamond \left[\prod_{i=m}^{\infty} F(\sigma_0^i) \right]. \end{aligned} \tag{4.2}$$

Then we have $\lim_{m \rightarrow \infty} \prod_{i=2m}^{\infty} F(\sigma^i) \leq 0 \diamond 0 = 0$. And $\lim_{m \rightarrow \infty} \prod_{i=2m+1}^{\infty} F(\sigma^i) \leq \lim_{m \rightarrow \infty} \prod_{i=2m+2}^{\infty} F(\sigma^i) = 0$. Thus it follows that $\lim_{m \rightarrow \infty} \prod_{i=m}^{\infty} F(\sigma^i) = 0$ for $\sigma = \sqrt{\sigma_0}$. Since F is non-decreasing, it is easy to show $\lim_{m \rightarrow \infty} \prod_{i=m}^{\infty} F(\sigma^i) = 0$ for $\sigma < \sqrt{\sigma_0}$.

For an arbitrary $\sigma > \sigma_0$, there exists $m \in \mathbb{N}$ such that $\sigma < \sigma_0^{\lceil (1/2)^m \rceil}$, and we can repeat the above process m -times to get $\lim_{m \rightarrow \infty} \prod_{i=m}^{\infty} F(\sigma^i) = 0$.

Lemma 4.2. For any monotonely nonincreasing function $G : (0, \infty) \rightarrow [0, 1]$, the following implication holds:

$$\lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} G(\sigma^i) = 1 \implies \lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} G(\sigma^i) = 1 \tag{4.3}$$

for all $\sigma \in (0, 1)$, where the infinite product \prod is in the sense of $*$.

Proof. One can take a similar procedure as in the proof of Lemma 4.1 to complete the proof of this lemma. For simplicity, we omit the detailed argument. We refer the reader to [7] for further details. \square

Lemma 4.3. We define $x_n = T^n(x_0) (n \in \mathbb{N})$. Then $\{x_n\}$ is a Cauchy sequence.

Proof. We assume $F(x) = N(x_0, T(x_0), 1/x)$ and $G(x) = M(x_0, T(x_0), 1/x)$ for $x > 0$. Then $F(x)$ ($G(x)$) is nondecreasing (nonincreasing) mapping from $(0, \infty)$ into $[0, 1]$. Taking $1 > \sigma > k$, by Lemmas 4.1 and 4.2, we have

$$\lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} M\left(x_0, T(x_0), \frac{1}{(k/\sigma)^i}\right) = 1, \quad \lim_{n \rightarrow \infty} \prod_{i=n}^{\infty} N\left(x_0, T(x_0), \frac{1}{(k/\sigma)^i}\right) = 0. \tag{4.4}$$

Since $\sigma < 1$, $\sum_{n=1}^{\infty} \sigma^n < \infty$, for any $\varepsilon_0 > 0$ there exists n_0 such that $\sum_{n=n_0}^{\infty} \sigma^n < \varepsilon_0$. For the above $\varepsilon_0 > 0$, if $m > n > n_0$ and $t > \varepsilon_0$,

$$\begin{aligned} M(x_n, x_m, t) &\geq M(x_n, x_m, \varepsilon_0) \geq \prod_{i=n}^{m-1} M(x_i, x_{i-1}, \sigma^i) \\ &\geq \prod_{i=n}^{m-1} M\left(x_0, T(x_0), \frac{\sigma^i}{k^i}\right) \\ &= \prod_{i=n}^{m-1} M\left(x_0, T(x_0), \frac{1}{(k/\sigma)^i}\right), \end{aligned}$$

$$\begin{aligned}
N(x_n, x_m, t) &\leq N(x_n, x_m, \varepsilon_0) \leq \prod_{i=n}^{m-1} N(x_i, x_{i-1}, \sigma^i) \\
&\leq \prod_{i=n}^{m-1} N\left(x_0, Tx_0, \frac{\sigma^i}{k^i}\right) \\
&= \prod_{i=n}^{m-1} N\left(x_0, Tx_0, \frac{1}{(k/\sigma)^i}\right)
\end{aligned}
\tag{4.5}$$

hold.

And according to (4.4), we have $\lim_{n \rightarrow \infty} M(x_n, x_m, t) = 1$ and $\lim_{n \rightarrow \infty} N(x_n, x_m, t) = 0$ for $m > n$. So $\{x_n\}$ is Cauchy sequence.

Since X is complete, there exists some $y \in X$ such that $\lim_{n \rightarrow \infty} x_n = y$. One can prove y is the unique fixed point of T by repeating the same process as in the proof of Theorem 1.1. Thus, we complete the proof of Theorem 1.2. \square

Acknowledgments

The author is grateful to Professor Nazim I. Mahmudov and the anonymous referees for their helpful comments and constructive suggestions. This work was supported partly by the National Natural Science Foundation of China (nos. 11026105 and 11026106), the Scientific Research Fund of Zhejiang Province Education Department (no. Y201119292), and the Foundation for Development of Mathematics Subject of HDU (ZX100204004-10).

References

- [1] L. A. Zadeh, "Fuzzy sets," *Information and Control*, vol. 8, no. 3, pp. 338–353, 1965.
- [2] Z. Deng, "Fuzzy pseudo-metric spaces," *Journal of Mathematical Analysis and Applications*, vol. 86, no. 1, pp. 74–95, 1982.
- [3] M. A. Erceg, "Metric spaces in fuzzy set theory," *Journal of Mathematical Analysis and Applications*, vol. 69, no. 1, pp. 205–230, 1979.
- [4] O. Kaleva and S. Seikkala, "On fuzzy metric spaces," *Fuzzy Sets and Systems*, vol. 12, no. 3, pp. 215–229, 1984.
- [5] K. Menger, "Statistical metrics," *Proceedings of the National Academy of Sciences of the United States of America*, vol. 28, pp. 535–537, 1942.
- [6] V. Gregori and A. Sapena, "On fixed-point theorems in fuzzy metric spaces," *Fuzzy Sets and Systems*, vol. 125, no. 2, pp. 245–252, 2002.
- [7] T. Žikić, "On fixed point theorems of Gregori and Sapena," *Fuzzy Sets and Systems*, vol. 144, no. 3, pp. 421–429, 2004.
- [8] K. T. Atanassov, "Intuitionistic fuzzy sets," *Fuzzy Sets and Systems*, vol. 20, no. 1, pp. 87–96, 1986.
- [9] K. T. Atanassov, "New operations defined over the intuitionistic fuzzy sets," *Fuzzy Sets and Systems*, vol. 61, no. 2, pp. 137–142, 1994.
- [10] D. Çoker, "An introduction to intuitionistic fuzzy topological spaces," *Fuzzy Sets and Systems*, vol. 88, no. 1, pp. 81–89, 1997.
- [11] J. H. Park, "Intuitionistic fuzzy metric spaces," *Chaos, Solitons and Fractals*, vol. 22, no. 5, pp. 1039–1046, 2004.

- [12] A. Mohamad, "Fixed-point theorems in intuitionistic fuzzy metric spaces," *Chaos, Solitons and Fractals*, vol. 34, no. 5, pp. 1689–1695, 2007.
- [13] C. Alaca, D. Turkoglu, and C. Yildiz, "Fixed points in intuitionistic fuzzy metric spaces," *Chaos, Solitons and Fractals*, vol. 29, no. 5, pp. 1073–1078, 2006.
- [14] K. Atanassov, "Review and new results on intuitionistic fuzzy sets," *Preprint IM-MFAIS-1-88, Sofia*, 1988.
- [15] B. Schweizer and A. Sklar, "Statistical metric spaces," *Pacific Journal of Mathematics*, vol. 10, pp. 313–334, 1960.



Hindawi

Submit your manuscripts at
<http://www.hindawi.com>

